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QUESTION 1

Click the Exhibit button. 

R3 and R4 want to establish an EBGP session between each other\\'s loopback addresses. Static routes have been
configured for the loopback addresses and you can ping from loopback to loopback. Their EBGP sessions are
configured with multihop to allow for additional hops. The correct AS numbers have been specified at the [routing-
options] hierarchy as well. Considering the topology in the exhibit, which statement is true? 

A. BGP\\'s protocol preference must be adjusted to be lower than protocol static for the session to establish. 

B. Each peer must configure a local-address of their own loopback for the session to establish. 

C. Each peer must specify a local-as within their EBGP configuration for the session to establish. 

D. Each peer must configure multipath for the session to establish. 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 
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Referring to the exhibit, which type of traffic protection mechanism is used for the LSP? 

A. fast-reroute 

B. link-protection 

C. node-link-protection 

D. secondary 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 
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What would explain why the policer is allowing 100 Mbps of traffic into the router? 

A. The burst-size-limit is inappropriate for the bandwidth-limit and for the default MTU of the ge-*/3# interfaces. 

B. The policer is not using shared-bandwidth-policer, which it must to achieve a rate of 50 Mbps of traffic. 

C. The policer is applied in the wrong direction. 

D. The policer is not using logical-interface-policer, which it must to achieve a rate of 50 Mbps of traffic. 

Correct Answer: B 

 

QUESTION 4

You are setting up MPLS RSVP LSPs between R1 and R6 through your core network. You must ensure that the R1 has
redundant ERO paths. You must also ensure that both paths are signaled and ready for traffic. 

Which action will accomplish these requirements? 

A. Create two primary paths. 

B. Create a primary path and create a secondary path. 

C. Create a primary path and create a secondary path with the standby parameter. 

D. Create a primary path and create a secondary path with the active parameter. 

Correct Answer: C 

 

QUESTION 5

You have configured PIM dense mode on your network. One of your PIM-enabled routers is not in the path of the
source-based tree between the source and the receivers, and has no need for the multicast traffic. Which behavior
would you expect from that router? 

A. The router will send register stop messages to the RP. 

B. The router will send prune messages to its upstream router. 

C. The router will send assert messages to the RP. 

D. The router will send graft messages to its upstream router. 

Correct Answer: B 
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